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onalll Jugll
Lyslaall llaell 5-0

= (A )ela¥L 5l 5-1
=1 2000 rev/min iz . sz sl jesdaldl cel il o
Ps= (.16 bar ,Pd= 0.20bar , F= 3.10N, H=42 mm.Hg

Q=0.2 vh =1.29 liter/sec

Input power= Fx N /K

ua
Pd =g jaill b Ps = 0 i Fo=_Soul ol e sl
H = meagldl dele )y N = o)l de o
Q =g peal Jiaa K= jusluall culs

Input power =( 3.1x 2000) /(53.35) = 116.2 watts

H.P= Hydraulic power
H.P= Px Q

P=Ps +Pd= (0.2+0.16) bar =36 KN/m?

Eff= out put power /input power
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=:3000 rev/min dc yu xie 33,80 el 3l @
Ps= (.28 bar ,Pd=0.45 bar F= 62 N
h= 92 mm.Hg
fotal head= Ps+Pd= (0.28+0.45)bar =73 KN/m?
Q=0.2vh=1.92
Input= F.N /K= (6.2x 3000) /53.35 =348.6
H.P= Hydraulic power
H.P=Qx p

Eff= out put power/input power




Test performance(A)

(A) 199 JLSa) @il (5-1) g

[44

Suction Delivery Total wvm_._.o Input in,m_. Hydeuis
e B s Paep1 o Speed N H Q. o Power Overall
Rev/sec (mmHg) Liter/sec w2 Efficiency
(bar) (bar) (KH'm?) F(N) (Watts)
(Watts)
1 0.16 0.20 36 3.10 2000 42 1.29 116.2 46.0 39.5
2, 0.16 0.22 38 3.00 2000 38 1:23 112.4 46.0 40.9
3 0.16 0.23 39 3.00 2000 37 1.22 112.4 48.0 42.7
4 0.15 0.25 40 2.80 2000 32 113 104.9 45.2 43.1
5 0.12 0.47 59 2.50 2000 17 0.82 93.7 48.4 51.6
6 0.08 0.62 70 1.50 2000 5 0.47 56.2 32.9 575
7 0.07 0.65 2 1.00 2000 0 0.00 37.4 0.00 0.00 -
1 0.28 0.45 73 6.20 3000 92 1.92 348.6 140.2 40.2
2 0.27 0.46 73 6.10 3000 91 1.91 343.1 139.4 40.6
3 0.26 0.50 76 6.00 3000 89 1.88 337.4 142.8 42.3
4 0.25 0.53 78 6.00 3000 87 1.86 337.4 145.1 43.0
3 0.24 0.56 80 5.90 3000 77 1.75 331.6 140.0 42.2
6 0.18 1.00 118 5.20 3000 45 135 292.4 159.3 54.5
7 0.08 1.40 148 2.50 3000 3 0.34 140.6 50.32 35.8
8 0.06 1.50 156 2.20 3000 0 0.00 123.7 0.00 0.00




23
= (B)elsll sLml 5-2
gl il o
H= 220 mm.Hg

N

3000 rev/min
Q= 02vh = 29 Liter/sec
=1 oY A yall Al
Ps= 0.2 bar , Pd= 0.85 bar , F= 55 N |
Input power= Fx N /K = 309.27 _Watts
Total head= (Ps+Pd) = 105 KN/m?
—: 280 Ala Lyl Aauad
Ps= 0.2 bar , Pd= 0.85 bar , F= 55 N
Input power= Fx N /K = 309.27 Watts
Total head=  (Ps+Pd) = 105 KN/m?
Total mean head = (Pd1+Pd2) /2= 105 KN/m?
Total input power=  618.5 watts
Pt1=Pd1+Ps1=105KN / m?
Pt1=Pd1+Ps1=105KN / m?

Pt2=Pd2+Ps2/2=105KN / m?
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(KN / m?) I baxuall b sie = Ptm
G Lmall 3y il i ges Juals = PEL
GV adl kol ks g Juala = Pt2
H.P=Ptmx Q= 304.5 watts
Eff<Input power/ output power
- @il zlla g o
H= 115 mm.Hg
Q=0.2vVh =2.1 liter/sec
=1l s¥ Al pall daim
Ps=0.05 bar ,Pd=0.4bar ,F=5.5 N N=3000rev/min
Input power= Fx N /K = 328.82 Watts
—:80 Ala el dauadl
Pd2=0.4 bar , Ps=0.05 bar F= 5.5 N
N= 3000rev/min
Total head= (Ps1+Pd1)x 100 = (0.4 + 0.05) x 100 = 45 KN/m?

Total input power= 691.6 watts

H.P=(Pd2+Ps1)x Q = 0.955 Watts



Test Perfomance(B)

(B) #1901 JLad) gl (5-2) Jdssa

ST

15t stage 2™ Stage Venturi flow
Total Total Input P Hydraulic
ral
Inj S Load S Load
No pul b Ps Pd Head peed Ps Pd Head Power H Q Q o nput Power
Power N F N F Head Power %Efficiency
- | (bar) [ (bar) Pd+Ps (bar) | (bar) Pd+Ps w1 (mmHg) | L/s | L/hour w2
Wiwat) |- @pm) | (N) em | () | W
(oar) (oar) | (watt) (Watts)
(watt) A 4
1 309.27 3000 5.5 | 0.20 | 0.85 1.05 3000 5.5 | 0.20 | 0.85 1.05 309.2 220 2.9 | 10440 1.05 618.5 3.045 49.00 $IA
2 303.65 3000 5.4 | 0.20 | 0.90 1.10 3000 5.4 | 0.20 | 0.90 1.10 303.7 217 2.9 | 10440 1.10 607.3 3.19 52.00
3 292.40 3000 52 | 0.18 | 0.95 1.13 3000 5.0 | 0.18 | 0.95 1.08 281 192 2.7 | 9720 1.105 573.4 2.98 51.90
4 269.92 3000 48 | 0.14 | 1.17 1.31 3000 4.0 | 0.14 | 0.17 0.31 224.9 110 2.1 | 7560 0.81 494.8 2.43 49.11
L 123.71 3000 2.2 | 1.35 | 0.08 1.43 3000 1.2 | 1.40 | 0.07 1.47 67.47 5 0.4 | 1440 1.45 191.1 0.58 30.35
6 123.71 3000 22 | 0.06 | 1.5 1.56 3000 1.2 | 0.06 | 1.50 1.56 67.47 0 0.0 0.0 1.56 191.1 0.0 00.00
1 382.38 3000 6.8 | 0.30 | 0.16 0.46 3000 5.5 | 0.05 | 0.40 0.45 309.2 115 2.2 | 7560 0.455 691.6 0.955 13.8
2 376.76 3000 6.7 | 0.32 | 0.20 0.52 3000 6.0 | 0.02 | 0.42 0.44 337.3 115 2.1 | 7560 0.48 714 1.008 14.1
3 365.53 3000 6.5 | 0.30 | 0.20 0.50 3000 5.7 | 0.00 | 0.60 0.60 320.5 110 2.0 | 7560 0.55 686 1.155 16.8 a
4 348.64 3000 6.2 | 1.70 | 0.45 1.15 3000 5.5 | 0.00 | 1.00 1.00 309.2 92 1.9 | 6840 1.07 657.8 2.04 31.0 P
5 140.58 3000 2.5 | 0.08 | 1.10 1.18 3000 1.1 | 0.00 | 2.40 2.40 61.85 5 0.4 | 1440 1.79 202.4 0.716 35.3
6 123.71 3000 2.2 | 0.06 | 1.50 1.56 3000 1.5 | 0.00 | 2.80 2.80 84.34 0 0.0 0.0 2.18 208 0.0 0.00
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=1 (C)elstll 4l 1 5-3

—: 3000rev/min de yu ve 335ak clel @l o

Ps= (0.2 bar ,Pd= (0.5 bar ,H=95 mm.Hg
F=6.3 N

Total head=Ps+Pd=( 0.2 + 0.5 ) x 100 = 70 KN/m?
Q=0.2vVh =0.2x9.7 =1.95 liter/sec

input power= Fx N/K = 354.3 watts

Flow Coefficient= Q

Q=(Vx 107%) / ND3=6.2x 1073

D=0.1m

Reynods Number = Re

Re= p ND? [u
p=1002x 10¢ Kg/ m.sec
p =1000 Kg/m3

N=2800x 2% = 293724
60

sec

= Gy ol Jalaa

D= . ks

—idsuy Al e
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Re=1000x 293 x 0.12/1002x 1076 = 3.0x 10°
=t Crandl Jalza
Head Coefficient= (P2+P1)x 1000 /D?N?

=(0.4+0.2) x 1000/1000 x 2932 x 0.1% =69x 103

=530 Jales
Power coefficient =

m=W1 /D
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-(D)elu¥t st 5-4

-:3000 rev/minie yu xe s35ald) el 3l o

Ps= 0.28 bar , Pd= (.44 bar

(Pd- Ps) = 0.16 bar

Total Head= (Ps+Pd) = 72 Kg/m?

F= 62 N , H=86 mm.Hg

Q= 1.85 Litter/sec

Input power=  FX N /K = 348.6 watts
Hydraulic power= (Ps+Pd)x Q = 133.54 watts

Efficiency= Input/ out put = 38.2 %
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